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SLC-245

B.Com. Part-III Due of Part-II (Supplementary)
Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS
Paper - 1II

(Cost Accounting)

Time : 1% Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@us—3) (3® : 2 x 10 = 20)
AT~ Wl T U & SW AT (SW-HE 50 IK) | TOF TS 2 3F H R
Section-B (Marks : 8 x 5 = 40)
Note .— Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(@ue-=) (3T : 8 x 5 = 40)
de - U9 A ¥ fEel Ut T & SW SIS (SW-EE 200 9E) | YAF Y9 8 IR
Al
Section—C (Marks : 20 x 2 = 40)
Note .— Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@us—a) 37k : 20 x 2 = 40)
qe - =W F el ouw & W Y (ST 500 ) | WEE T 20 37 6

T
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Section—-A
(@us-3)
1. (@ Explain the meaning of Elements of Cost.

T & acl w1 1Y TR Wit

(i)  What is meant by Labour Turnover ?

g\ eTed A1 TR | Fn At 2

(ii1)) How Selling and Distribution overheads are absorbed ?
foent wa foawor suliesai @1 eraeioor &4 fohan s & 2

(iv) How is a Production Account prepared ? Explain.
IR WAl & IR fHen S § 2 9HEmEu

(v)  Explain the meaning of Abnormal wastage.
ST &9 W 1Y HHeed |

(vi) What is meant by Retention Money in Contract Costing ?
ST AT H SR AT H F AN ¥ 7

(vii) Give formula for calculating of Material Price Variance.
A Hod TR S A h YA ST

(viii) What will be the ‘Cost Unit’ in Hotel Costing ?
B ARG oremed H AN SR o e ?
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(ix) What do you understand by Break-even Point ?

g-foeag fog | o9 o1 @oe@ € ?

(x)  What is Composite Cost Unit ? Give two examples.

HYH TG SHRE FT § 7 Bl 3T SIS

Section-B

(@us-=)

2. From the following information, prepare the Stores Ledger Account on the basis

of First-in, First-out Method :

Frfafed o 9 9om A, 99 fiHe fafa & sTaR W 9l sk @ 997y

Purchases

Issues

August, 2021

12 6,000 units @ ¥ 12 each

13 5,000 units @ X 14 each

22 3,000 units @ ¥ 13 each

August, 2021

14 3,000 units

16 1,250 units

26 2,500 units

Return from job to stores :
SUHE § WUER HI A9

August 15 500 units @ ¥ 12 each
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Name the different methods of ‘Absorption of Factory Overheads’.

‘wRE Suftera & stERie’ &t fafv= ugfaa & am SifSa

What are the different methods of calculating profit on an incomplete contract ?

Explain.

TH Y0 I W TN T TUAT HA i Al wE-wEd § 7 wwems)

The following data are given to you :

Aenl Tr=ferfed o9 fad 9 €

Standard Actual
Qty. (kg.) | Price (per kg.) | Qty (kg.) | Price (per kg.)
Material ‘A’ 500 3 450 3.50
Material ‘B’ 1,000 4 1,050 3.75
1,500 1,500
Calculate :
(@) Material Cost Variance
(b)  Material Price Variance
(¢)  Material Mix Variance
AT RIS
(31) =W e R
() Gt Hea oo
(®) gt fagor fa=ro
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6. Discuss the five causes of difference between Costing Profit and Financial Profit.

[aRaN [aWa

T oy qen T oy # 9 % uiw wrul w1 faeee wifsu)

7.  The following information is provided :
frefafea gemm <& st § -

Ratio of variable costs to sale 60%; BEP occurs at 80% of sales; Fixed Costs

% 2,00,000.
Ascertain :
@ HifeT :
(1) Sales at 100% capacity and the sale at BEP.
(ii)  Profit at 90% and 100% sales capacity.
8.  What is ‘Operating Costing Method’” ? To what concerns is this method
applicable ?
fere anma fafy Fn ¥ 7 fR weenstt # =g fafy @wy & S ¥ 2
Section—-C
(TUs-7)
9.  What is meant by Premium or Bonus Plan of Payment of Wages ? Indicate the

essential features common to such system. Explain any two of such plans giving

examples.

TSI A i TifHem Sieen 99 Ao ¥ @ aedd ® 7 WS yonfet # sufed
3METTF a7 AT | TH Aremied # ¥ fh=l & 1 ST od §C TR HifWT |
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10. A factory has received an order for three different types of casting weighting
respectively 18, 45 and 27 tonnes. 10 percent of the raw materials used wasted in

manufacturing and sold as scrap for 20% of the cost price of raw materials.
The cost of raw materials is I 250 per tonne, the wages for three types of castings

are respectively ¥ 4,000, ¥ 10,500 and ¥ 5,500. The cost of the moulds for the

three different types of casting are respectively I 400, ¥ 500 and ¥ 300.

If the factory overhead charges are 40% of the wages in each case, find the cost
of production per tonne of each type of castings.

fret TR 3 HEe: 18, 45 T 27 =7 94 & O JoR-JU% THR & HIe™ & fau
Ry femen €1 fetor e # wgs Gt @1 10% SR 8 Sar € S erlt A/l %
w9 § Gl Ara & 20% Hed R 9E S ¥

g @t 2 250 9fa 2 ¥ SR S A WeR & Fife & fau o™ Tae wEen
% 4,000, T 10,500 T % 5,500 B0 €1 IR A THR F Fiei Hi @@ HAT: T 400,

¥ 500 qem T 300 ®1

g HREMT SIREAT T&F I H 99 JaE &1 40% T, T T&F THR & HIET &
9fd 27 IARA AN A RIS

11. Product X is obtained after it has gone through three distinct processes. The
following information is obtained from cost records for the month of September
2021 :
@ fafa= gfrmstt § @ v & 9] AR X W@ B §1 faaer, 2021 AR & fa
AN orEll H ewfaten geae fRed §
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Process 1 Process 11 Process III

Materials T 5,200 T 3,960 35,924
Wages 3 4,000 % 6,000 T 8,000
Overhead (R 18,000)

Input of units at ¥ 6 per unit 1,000

Normal loss to input 5% 10% 15%
Output units 950 840 750
Sale of scrap per unit 3 4 38 3 10

There was no stock of work-in-process at the beginning or end of the month.
The overhead is recovered at 100% of wages. Prepare Process Cost Account,

Normal Wastage, Abnormal Wastage and Abnormal Effectives Account.

T8 o YREY A1 3T § 35§ &M &1 hlg LI T8l 91| IIREA i 755h & 100%

R FgEl Bt T R ArT S, S & S, STHM & ST ST ST o

WA TR T |
12. Explain the following variance with suitable examples :
(1) Labour Rate Variance
(ii))  Labour Efficiency Variance
(iil) Labour Mix Variance
(iv) Labour Yield Variance
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Frafafea faerell 1 Iuge I[@IN HT TEEd TSRS
(i) g\ R fa=m

(i) =9 iy fa=ro

(iii) &= Thgor fo=ro

(iv) o9 39 fa=ro
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